Luce PB

4. Ture innen (geschlossene Ausgabe)

Ersatzteilbuch

Pos.Nr. Artikel Bezeichnung Artikel Nr.
1 Abdeckung Beleuchtung Luce 0020029432
2 Schraube 3,5 x 9,5 TCB VIT0002401

3 Schliessstange Luce 0020029437
4 Feder 2100002007
5 Schliessraster Oben NL202100275
6 TURVERSCHLUSSHEBEL 0010018026
7 TURVERSCHLUSSROLLE LUCE 0010015125
8 TURVERSCHLUSSSCHRAUBE LUCE 0010018028
9 Feder Turverschluss NL202100285
10 Stutzen Turverschluss NL202100276
11 Becherwerkarretierung Kpl. Luce 0020022626R
11/a Halter Becherwerkarretierung 0020022626
11/b Schliessklinke Schwarz Becherwerk 0020018227NA
11/c Bolzen Schliessklinke 0020018234
11/d Feder Schliessklinke 0020018237
11/e U-Scheibe 5,3 x 10 x 1 UNI 6592 VIT0003004
11/f Sicherungsring 3,2 DIN 6799 VIT0006502
11/g Schliessklinke 0020018241
11/h Schraube M 3 x 8 TCB DIN 7985 VITO000003
11/i Zahnscheibe 3,2 DIN 6798 VIT0003102
11/1 Mutter M 3 DIN 934 VIT0004502
12 HALTEBLECH BECHERWERK LUCE 0020029434
13 HALTESTANGE BECHERWERK LUCE 0180011818
14 Stift 1,6 x 15 DIN 1336 VIT0006004
15 Winkel Turkontaktschalter Luce 0270011452
16 Display ohne LED-Zucker Luce PB SCH0004680
16 Display Luce KITSCH0005520
17 Geldriickgabehebel Unten 0020026322
18 Geldriickgabehebel Oben 0020034025
19 Schraube M4 x 7 TCB VIT0000030
20 NL20210049
21 Feder Geldriickgabehebel 0020005013
22 Munzeinwurfkanal schwarz Luce SM 500 0020034045NA
23 Stift 1,5 x 40 UNI 1336 VIT0006012
24 0020029113
25 CPU XL/Eco/Luce Flashcard SCH0007220
26 Platine Folientastatur Luce FC SCH0004200
27 GEHAUSE DROSSEL LUCE 0020029429
28 Drossel 5-7-9-11W 230V 0,17A ELE0009116
29 Schraube 3,5 x 6,5 TCB VIT0002009
30 Startertrager 111AU ELE0009108
31 Starter S10 4/65 W ELE0009109
32 Schutzabdeckung LUCE 0020029433
33 Schraube M6 x 11 TE VIT0000236
34 Abdeckung CPU Geschlossen Luce 0020029612
35 Riegel Ture Miinzgerat MODA 0020026335
36 Feder Riegel 4001003301
37 Halteblech Munzriickgabeknopf 0020029294

Stand: 16.03.2011

-12 -

© rheavendors servomat



Luce PB

4. Ture innen (geschlossene Ausgabe)

Ersatzteilbuch

Pos.Nr. Artikel Bezeichnung Artikel Nr.
38 0020029637
39 Halteblech Bargeldlos Luce 0020029456
40 Fihrung Scheibe Becherausgabe 0020034168na

Stand: 16.03.2011

-14 -

© rheavendors servomat



